N = 0l & At & Ml A

2A: BAMI Y
Hu: BAYT(BA/2AZ)
ool BN D CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SAHHF M 5,462,168 4,629,425 832,743
2 562,458
J| 163,090
< 270,016
Al 4,466,604
BHAHEFH(BAH/BAHAZ) 3,561,356 2,647,851 913,505
= 562,458
J| 145,410
< 270,016
Al 2,583,472
2AHEY 7 230,440 45,805 184,635
J| 45,000
< 13,500
Al 171,940
24 29 139,133 44,498 94,635
101 @124l 24,933 23,998 935
04 JI2ZtHZ22HEE = 24,933 23,998 935
O EBAL HA2e& 23,117
o oIy 68,720 * 1H * 5 » 46= 15,806
o FHRE 68,7203 * 18 « 46= 3,162
o MEUF BAY
6,880 * 1& * 6L 46 1,899
o MIEEE 2,150,000 = 14! 2,150
o O£l 50,000& = 1H = 23| 100
O BAAL M=E=xY R 1,816
SRRUE 3 68,7203 * 498 x 2 33| 1,650
o Mag By
6,880 * 4¥ » 2& » 33 166
203 ¥R =&l 6,000 6,000 0
03 AR Z=Z A= T Y| 6,000 6,000 0
O BANY 22E7 6,000,008 * 14! 6,000
401 Al HIZ 201 I 30,000 0 30,000
01 A& HI 30,000 0 30,000
O Bad4 CCTv &X 30,000,000& * 14 30,000
405 TtabF S| 78,200 0 78,200
01 et ESFHSHI 78,200 0 78,200
O MR8 2Tt #¢ 250,000& = 7K 1,750
O &tda MR8 =23 7¥ 450
o AREHA 180,000& * 204 360
o 3& Mg 90,000& * 1JH 90
O H=2I 2,000,000& = 1CH 2,000
O #2x 7¢ 74,000,000& = 1CH 74,000
2o & 2@ A 1,307 1,307 0
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HL HI HD
oYY
02 o2 (2L
0x 04 0%
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4T
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= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
201 Le-2d| 747 747 0
01 At 2t 2|l 747 747 0
O B9 & 2 @A =& 747
o EEB ¥4 X 560
- FWE 200,000& * 2J 4 * 13 400
- AALHE 80,000& * 2JH 4 * 13l 160
o 2E 2 ARE ¢
18,700& = 108 = 13l 187
301 LEHF 560 560 0
09 ALAHIXIE S 560 560 0
O BA9 ¢ 2t A AT AH 24
8,000& = 70H = 13l 560
SEIYYEA XX A Z208 29 90,000 0 90,000
| 45,000
= 13,500
Al 31,500
307 21201 A 90,000 0 90,000
| 45,000
< 13,500
Al 31,500
05 RIZtel &t 3 90,000 0 90,000
O SELER et N =208 29
90,000,000 = 14! 90,000
J| 45,000
< 13,500
Al 31,500
SHE 22 MUlA JHEAE 645,913 155,299 490,614
= 340,679
< 85,170
Al 220,064
SHESB2HII2 AlE e & A= FHH B S 645,913 155,299 490,614
= 340,679
< 85,170
Al 220,064
401 Al BIZ 201 8] 497,113 0 497,113
= 241,479
< 60,372
Al 195,262
01 A& HI 482,410 0 482,410
O &otet2HEzZA A5 Jl= L A AEAH
25,000,000& * 14! 25,000
O Hotet2HEZ A A
2,300,000& = 149m * 130% 445,510
= 241,479
= 60,372
Al 143,659
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O dolslEddas 8 B2 =A2e0l
170,000& *» 70& 11,900
02 Zeldl 6,995 0 6,995
O dotat2Hdz A AxF 2eldl
445,510,000& * 1.57/100 6,995
03 AIE 2 0HHI 7,708 0 7,708
O &olstBATZ A AF AIE20YI
445,510,000& * 0.72/100 3,208
O ABIBRATBA AE BF OE44E
4,500,000& = 14 4,500
405 XHoHF S HI 148,800 155,299 26,499
= 99,200
[ 24,798
Al 24,802
01 XL 2 ZFH S| 148,800 155,299 N6,499
O XsSststd A (2 =2 &hl)
75,000,000& = 1CH 75,000
= 50,000
< 12,500
Al 12,500
O NZXsZMI (22 H)
25,000,000& =« 1CH 25,000
= 16,667
< 4,166
Al 4,167
O HHol(=&4l) 15,000,000& = 1CH 15,000
= 10,000
< 2,500
Al 2,500
O E=AH(=z&l) 10,000,000& * 1CH 10,000
= 6,667
< 1,666
Al 1,667
O gugag WA (S EH|)
20,000,000& =« 1CH 20,000
= 13,333
< 3,333
Al 3,334
O 3JI83so(2=z&bl) 3,800,000& = 1CH 3,800
= 2,533
< 633
Al 634
2AX4 ¥ V2L 29 1,065,021 969,348 95,673
= 82,000
Al 983,021
AL 29Y 424,046 477,451 A 53,405
101 1A dl 25,566 22,293 3,273
4 JI12ZHZEXNSES 25,566 22,293 3,273
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o 2y 74,8003 * 1H * 5 « 46=F 17,204
o Zgay 74,8002 * 198 » 46% 3,441
o MEYUD PE4Y
800& * 198 » 62 » 46 221
o AMEEZE 2,100,000& = 14 2,100
o 2R= 100,000& = 1¥ = 13 100
o EX=z 2,500,000& = 14H 2,500
201 Let24dy] 177,300 174,495 2,805
01 At 22/l 32,341 31,397 944
O YP4sH AN 28,771,008 * 14 28,771
O X4 X 22=2(0t2) SAH 4
3,570,000& = 14 3,570
02 23224l 144,959 143,098 1,861
O 3322 % MA SUAH
75,453,000& = 14l 75,453
O HZH SHEAHL 15,100,000& * 14 15,100
O AEZZEHIKXH SHH L
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202 oddl 21,282 21,282 0
01 = LH o4 1l 21,282 21,282 0
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307 gl2tol & 174,888 179,460 AN4,572
01 222l 174,888 179,460 N4, 572
O YuE RS
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o UZSEI(MAAMT])
2,980,000& = 1CH 2,980
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Cel HANA W ARL 2 CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
S BANEL JEHIIE FEHCArE
38,2003 * 28I A + 12& 12,836
o BAHIEA U2tE HEH
1,600,000& * 3JH 2 4,800
o 2AHAUZ A B3I & AJI P
9,500& * 280H A * 43| * 25 2,128
o ZyM 25 7Y
1,700 = 2802 = 400 « 123 2,285
o AATLoI DALY 42EQ
20,0003 = 308 = 22 13,200
o AANNLOIWASY &40 H =
70,0003 » 2200 A& 1,540
O I=dl 1,960
o BARY 282 2
70,000 * 2804 A 1,960
O gxz 13,440
o E=J ¥ didl 2elbl
40,0003 * 28 A * 123 13,440
02 =224l 184,024 184,024 0
O 3322 % MA A4
143,012,000& * 14 143,012
O dSH S & 10,292,000 * 14! 10,292
O AIEZEHIKXE SHA L
30,000,000& * 14 30,000
O Xg - detdl (0l & XtH)
2,000& = 3CH = 104 » 12& 720
202 oddl 2,380 2,380 0
01 = LH o4 1 2,380 2,380 0
O 2ddzd /385 ¥ W0t
85,000& = 14%H » 2 2,380
301 LEEXZ 5,830 1,800 4,030
09 HALAHIX &S 5,830 1,800 4,030
O ATL0I DA HAK AL
3,000 * 30¥ * 22004 1,980
O A2XA0Ina 29 2A =2
70,000 = 53] = 1104 3,850
307 glz2+ol & 154,560 154,560 0
01 2222l 154,560 154,560 0
O AR%E 7
4,500 * 80 * 284 * 128 120,960
O AZARE P2 160,0008 » 28 * 43 17,920
O otEAtHIolotE 7Y
80,000 = 28I = 43| 8,960
O Z2Y 25ME ABMHA %E 7
20,0003 * 280 A * 123 6,720
405 TtHabF S 36,452 27,604 8,848
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Hu: BAYT(BA/2AZ)
el BHXA 2 Agh 2Y (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O sE2HdsAL 1,780
o MIESH(E2=H) 220,000& « 1CH 220
o MIts 2 1,560,000& * 1CH 1,560
O dsBHdz A 750
o HHN(3174 ) 750,000& =« 1CH 750
O REBHAz A 780
o 398 At 640,000  1CH 640
o Fadl 140,000 * 1CH 140
O A2ZXZ0l wa 29 1,200
o olEAN 0tol3a 150,000& * 4CH 600
o FE ALlA 150,000 * 404 600
0|2 SN MEIA SHAHS 186,500 52,200 134,300
< 82,000
Al 104,500
101 @14 dl 172,500 52,200 120,300
< 75,000
Al 97,500
04 JIZHHZ22XNHEE S 172,500 52,200 120,300
O BdXla gcXlg d8geldy 172,500
o IEY 2,500,000& » 5% » 12&8 150,000
< 75,000
Al 75,000
o AMIEER 15,000,000& * 14 15,000
o EX=3 7,500,000& = 14 7,500
405 XtatE SHI 14,000 0 14,000
< 7,000
Al 7,000
01 XA = ZH SHI 14,000 0 14,000
O BdXa 22Xz EHl 2L 14,000
o dolMd X220 6,600,000& = 1CH 6,600
< 3,300
Al 3,300
o 2xZC I 2,700,000& =« 1CH 2,700
= 1,350
Al 1,350
o M=z0t X372 2,350,000& * 2CH 4,700
= 2,350
Al 2,350
o - o otM 2tE 50,886 42,381 8,505
J| 2,405
< 2,760
Al 45,721
EE2AAET =el=A 2,400 2,400 0
201 Let2d] 2,400 2,400 0
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2A: BAMI Y
Hu: BAYT(BA/2AZ)
chel: o - ororE e CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O dHads 42T 29 7,095
o OtRAZEE 35,0003 » 25 A 875
o CElAZZ) 8,000& » 50 A 400
o MHAMsE 28 03H - JI&
8,000& = 1004 = 43 320
o WEE 28 % 010132 s HEXA
50,000& = 123 600
o WE 0l+=3Z JtE 300& = 3,000& 900
o WRO0+Z JHE £ He2
30,0003 = 104 300
o NsSAEEADI(AD) WX
60,000& = 10CH = 42| 2,400
o IEEE=E M 1,000& = 1,300H 1,300
02 2324l 3,460 3,460 0
O 3322 % HMA 960
o gl 0 - AT SIAE M=
16,0002 » 50 » 12& 960
O A& ZEH KX 2,500
o dJ| 0 - Y w2
500,000& = 5014 = 13 2,500
202 O4dl 5,040 5,040 0
01 = LH 4 1l 5,040 5,040 0
O #oplte dHads OIS 5,040
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o =X 20,000& = 3 * 128 « 23| 1,440
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206 TH 2 H 1,005 3,800 A2,795
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< 150
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01 MHZ 4l 1,005 3,800 A2,795
O NsaFEs2AI 253 (I HiHe )
1,005,000 * 14 1,005
J| 505
< 150
Al 350
405 RHoHE S HI 2,400 2,400 0
J| 1,200
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O f01dY AL 2(EHAM, EAXA12,
&2 A28) 30,000,000 = 14! 30,000
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